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Note :

Ggenpauuimet @)L
Draw diagrams an

sl uurdl o eTerST 6T GUTLI & 60 &

sAUTTéEE GaTeTera L. SiEsIuS e Genud e, =YL

samsranfliiLmerlLLd o L alqWN&S OgMeil&saw.

@) Beob AR gLy @wuiloan LI ACL TWEHUSHGD
<1g5GETg HUSDGD LweTLRSs Couam(id. LILBIGET auanTeusnE
Quearflé LWETLHSSLD.

(1) Check the question paper for fairness of printing. If there is

fairness, inform the Hall Supervisor immediately.
or Black ink to write and underline and pencil to draw

Smansg eNenméasEhL gflwm

any lack of

(2) UseBlue diagrams.

EXk LULLD eUenTHS) gLoemUT(HESEnET ET(LHBALD.

d write equations wherever necessary.

19fey - 1/ SECTION -1
S|OTTSS &S EREGLD adenL_Waf&saL. 15x1=15
Qar(H&sLILLL H65T(E HeLaefld Wsab epLmL adlepLenwd
CsindsbH58! GHuILGLe e @emanyb Csrdgl eT(LEIS:

Answer all the questions.
Choose the most suitable answer from the given foura

the option code and the corresponding answer.

lternatives and write
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suflews I HmID euflens 11 -5 ECp QarhHissiu L GOUWI®H epevid QUITHSSIS-

suflems - 1

(A) Qu&et&wib

(B) Qusatwd sGuir_
© s

(D) unfev rbg

GUCIE
(A)

(=1) )
(<) (4)
(&) @)
(FF) (2

(B)
(4)
(3)
(4)
(1)

©

(D)
(3)
(1)
2
3)

(1)
(2)
3)
(4)

eufileme - 11
Qe QnIGSD
&STLILS CQmifled
GCumed gneniy

wedler&d)

Match the List - I and List - II correctly by using the code given below :

List -

I

(A) Magnesium

(B) Magnesium sulphate

(C) Gypsum

(D) Plaster of paris

Codes :
(A)
@ @
b @
© @
@ @

(B)
(4)
(3)
(4)
(1)

(€
(1)
(2)
)
4)

(D)
®)
(1)

&)

(1)
(2)
®)
(4)

List - IT
Setting of cement
Pyrotechnics
False Ceilings

Purgative



3

&On (1) : QualéGaivhisdr s UksmE erangmeld, 2fs
| Caréflenad wHYD <1ds o H@Hlemasmard QameaT(Herers).

SOmi (1) :  cHArdi Wensew Asrar Siwels@psda G cugeumer

Bevaller ritiy elans mUuugsrd QumbLTeTewwiTea
SAWGHIECSTORIEET Sl aTorar Ligss &@TOmSETTS 2 eTare.

(=4) SO (1) &l emed smpm (IT) seum
(<=4) smpmy (I) LOMWL (1) Hwener gl LHMID oo (I1), som (1) -er FHwrer

eSleTssLIE L0

(&) s=po (1) seum e sbhmy (IT) &

(/) sapmi (I) oMb (1) &fl e sapm (1), som (1) -er sflwrer eferésd
)

Statement (I) : Electrovalent compounds possess high lattice enthalpy, high melting
and boiling points. ’

Statement (II) : Due to strong coulombic forces of attraction between the oppositely
charged ions, electrovalent compounds exist mostly as hard crystalline

solids.
(a) Statement (I) is correct but statement (II) is false.

(b) Statements (I) and (II) are correct and statement (II) is the correct explanation of
statement (I).

(o) Statement (I) is false but statement (II) is correct.

(d) Statements (I) and (II) are correct and statement (I) is not correct explanation of
statement (II).

&6 ammenad(H&emer <}, &EamTedl 6 asabu‘&,g; KOH 2_L_ai eflenemiLi(h& Sl emed

STy

HenL_LILIZ) :

(1) apSEaDTE (<) @edldei

@) woaomd GEETE

When alkyl halides are treated with alcoholic KOH, the products are
(@) alcohols (b) olefins

() aldehydes ' (d) alkanes

[ Slgpliys / Turn over
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20 g &lymd eTenL_ujeirar A -ulen ppavsamm Hean 40 crafled ifaieter Gomeaarfien
eraTentlsans :

(=1) 0.5 (=) 5 (@) 50 () 1
The number of moles of 20 g of substance A, whose molecular weight is 40, is :

(@ 05 ®) 5 () 50 d 1

SpssaTL (Wenpsafle) ergl eplymemer SaThsHlL LweTGEDG :

(<=1) QadLmed wpemm | (<) srflwev wpenm

(@) erdlsemev (‘S&rrg,eoveo'rr (FF) é&DLﬁlé;J;]e&r erflge upenm
Which one of the following method is used to estimate Nitrogen ?

(@) Kjeldahl method (b) Carius method

(c) Lassaigne’s test (d) Liebig’s combustion method

eﬁ@ésasrr@usmm&;aﬂd) BEeb HeaveLiL] Seen 2 LW manl @y :
(1) ASH, (<) NH;3 (8) BiH, (FF) PHy

The most stable hydride of the following :
(a) ASHj; (b) NH; (c) BiHy (d) PH,

Guome dm 2 e9pmg ~1 ey -6 DG,

(1) ellenareuens (<=,) edlenarGausid

(@) QumrmeTenLo () elewarGeus wrdled

mol dm ~3 sec ™1 is the unit of
(a) order (b) rate

(c) active mass (d) rate constant



10.

11,

5

lereuBeuameupmieT et Cmmy, (&8 TaELTTET Sl ILama ?

(=) Mg*, Mg2+ (&) 02—, F- (@) Nat, O~ (%) Cl~, -
Which pairs of ions are isoelectronic ?
(@) Mg*, Mg2* () 02—, F- (c) Nat, O~ (d) - Cl7, BT

Qamsa anrene® Syl elmanseiiey LTHssLILLTSS

() epe&serliLmen (<) s AsTES
(B) smsei sreaf () ammegen

The Syl reaction of alkyl halides is not affected by the nature of the
(a) mediﬁm (b) alkyl group

(c) nucleophile (d) the halogen

QUL A -G APESILDIEET QUL B -aT epedammisener 6l b6 WLHIE <5ls
CaussHa @Gy Qautiufleneuier QuiiEdng erafle, SleuDHOIET eLPeLSFn)
eranL_saflem (M/Mg) 6B

(<) (@) 3¢ (@) 16 (%) 4

=

The molecules of a gas A travels four times faster than the mo_lecules of gas B at the
same temperature. The ratio of molecular weight (M,/Mg) will be

1
(a) % ® T () 16 d 4

Quenfanen enpl_Crm gD Qsinyd CuTg, AL HZ.SO"‘ < ez
QeuefliLiHieug) :

(<1) NO,* (<) NO, (@) NO;~ - (F) NO~
The purpo'g,e of adding conc. H,SO,4 in nitration of benzene is to produce
() NO,* ®) NO, (& NOg~ ). . NOp

[ HmLys / Turn over
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12. SpssamcupPler Gepps o aphlaamyu Garar 0.1M présmrsd ?

13.

(1) wpflwr (<) QurLrflwb s

(2) GEp&ECama (F) Gemgwid GGermeny(h
Which of the following 0.1M aqueous solutions will have the lowest freezing point ?
(@) Urea (b) Potassium sulphate

(c) Glucose (d) Sodium chloride

Cemgwid GGerreny(® LgsSHen euigeuanLoliL] :
(<=1) eremr wpél

(=) QurmeT enWw SHevras)rid

(&) sgir gomd

(FF) (&L enbl SEgg) LD

The structure of sodium chléride crystal is :
(a) octahedral

(b) body centred cubic lattice

(c) square planar

(d) face centred cubic lattice



14.

15.

ELESETL. FnHNIGMET S5,

O eff @{@J@Sﬂw o @TeT eravsl FreanGefen eramasms e o @rer
Bl rrensaflen eramanfGamads swiomngL.

@) e amieie) sramibd LGrTLrensaien erameniisms é‘l@J@J@)J@ﬂW e
6T GRTGUTIT(GLD.

() erevéL yren HOID o U &wm eamier @an Wear GuEGelmswred
seurlinl(® @mGs 2 drarg.

Gupsear sapnéseie ergl | ereney FHliTaEmE 6.
(=) @, (1 a (<) @ @
(8) O, (1) & (1) () (D), (D

Consider the following statements.

()  The number of electrons in an atom is equal to the number of neutrons in it.

() The number of protons in an atom is called its mass number.

(I) Electrons and the nucleus are held together by electrostatic forces of attraction.

Which of the above statement/s is/are not correct ?

@ () and (@) ® @ and @

(©) (1), (IT) and () (d) (M) and (II)

égngsasmrL_maJéﬁ@ﬁT THGeEmenLoWITa | bressmer QararL Gemomnl &

Brredwimed STiFs] oy S5 gnmmmuu@g;ga)rrm»
(<=t) erafifléd efwmsn DrFEEET (<) USHESLOTS®
() (=) wHod (@)

(@) Bifler sevrum LDTEHESET
pounds can e done by steam distillation only if the

Purification of mixture of com
impurities are ;

(a) non - volatile (b) volatile
() insoluble in water (d) both (a) and ()

[ Hmuus / Turn over



Nfley - II/ SECTION - II

aCseib oym NarssEnsE el wefl. alarm erewr 18 -&@ SLLMWLONS
eflenLwell&sayi. 6x2=12

Answer any six questions and question number 18 is compulsory.

16. yeduimiy epenpuied 9NEHe erammmed cremen ?

What is gravity separation ?

17. D,0 -@e @\ LWeTsenar 6T(pgis.

Write any two uses of D,0.

18. &Lt Gemganeanuiled Cuflwd usms g Lber Fipsens sHADS ? srrewd Sma ?

In flame test, Barium gives apple green colour. Give reason.

19. @aT&seLIL| GTETMTE GTee ?

What is mean by hybridisation ?

20. Qeuliy Qussaflwedar WHe aﬁ]ﬁmm FaMI& ?

State first law of thermodynamics.

21. swfleve Qgdleyser LMMTLD QMHUUSHSETE STTETSMS 6T(PEIS ?

Reason out why equilibrium concentrations remain constant ?
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22. Wé(ggmmu_ll-b G‘_- . . . " ) o
g , THSldamanub, srrb & KMnO, Qaras(® ereuaum
seorL_Mleurus ? e ‘ & >

A H(_)W will you identify ethane and ethylene with alkaline KMnO, solution ?

23. Que%r.ﬁeiﬂ FWLOWLTET QM STTLET @SSO ETWD, <2b0) & @ L g3 601
SgmEsamenyd GuDdlBESng. Hluruiubhgss.

Benzene has, equivalent six carbon atoms and six hydrogen atoms. Justify.

24. QLrgyedafflmHg Quenamses GGermany( ereuamm swuriléstuGEDg ?

How is benzyl chloride obtained from toluene ?

19fey - 11/ SECTION - III

n &S EFES SepLwafl. farm erawr 27 -&@ SLLTWIOTS

agCsaId b
6x3=18

aflenL_wafl&Esa|b.

Answer any six questions and question number 27 is compulsory:

@QeniueUs Qarar@earer Gerwsder  EHmESHW

25. Qereumd  §56I5
%, enamL_yeaen 20%.

QUL lq GRENTS semsd ([ smiuen 80

What is the simplest formula of the compound which has the following percentage
composition ? Carbon 80%, hydrogen 20%.

26. &mHOHIET GLpadled UMISSHED erampmed erevean ? rHSSHESTL(H S[HS-

Explain calcination with an example.

A [ Hpliys / Tum over
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28.

29.

30.

31.

32.

33.

10

Sipssam_eipean Samliumoeaseiar gneauflasuis aflasiu®sss.

(<=t) Li, Na wopmgd K (<) C, N wpmyd O (@) Ca, Sr opmitb Ba

Arrange the order of increasing atomic volumes in :

(a) Li Naand K () C Nand O (c) Ca, Sr and Ba

(100), (010) wpmib (001) W& FeThRIG®ET CUMTSE.

Draw (100), (010) and (001) planes.

QUITERTL_feumeven Lommledlsetlenm (l,oésé]u_iggjmgéogsg &(H5.

Write the significances of Vanderwaal’s constants.

S0, -am auigeuemlieanL eflersEs.

Explain the geometry of SO,

Genend smUES eulqsgadlern eped FiemoUTssma efeuf.

Explain the fractional distillation method of purification.

S8y SleniL e @Gemen efenameniLl T(PSIS ?

What is the action of ozone on acetylene ?

Quenéer efwirLimy FHude ereleumy swrfésiiu@dng ?

How is benzene prepared commercially ?
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8fley - IV / SECTION - IV

5x5=25
Answer all the questions.
34, Guni i@ Geraresular Cam' Lr@sedr wreea ? 5
{60605
< TECHT LHMIL LIMYT epant’ yeer eremra e ? eflauf. 5
What are the postulates of Bohr theory of atom ?
OR
What are ortho and para hydrogen ? Explain.
35. (i) Cumpmer @ euellewirer ehHss crauspE @f THSSEST(H SHS 2
leTéEs. '
i) Curprsededlmpbg Gumyren ereucury 9ASCQs5HSSLILEEDS ? 3
{60605
Fauay® UTeu®d AWPSSSMS Quisdlel - apriiel wepuiled ereualrm
Biremrudiinimi. @epepuder Ceremoser wrema ? 3+2
(i)  Give one example to show Boron acts as a powerful reducing agent.
(i) How is Boron isolated from Borax ?
OR
How is osmotic pressure determined by Berkley - Hartley method and also mention its
advantages.
36. AU wpmib AH -&@ 2-6rar Ggm_ieu au@medl ? 5
V6V
2 Guré H, wpmib 3 Gurd I, gduapmp 2 AL soalld a®ss 5
Qeutiutiu@&sLuBEADS. soflaas someawrarg 0.8 Goradser HI -g
QaramHerarg eraed Ky wpmib K, wdliyseer sanédlhe Hyg +1g = 2Hl g,
Derive the relationship between AU and AH.
OR
Two moles of H, and three moles of I, are taken in 2 dm3 vessel and heated. If the
equilibrium mixture contains 0.8 moles of HI, calculate K, and K_ for the reaction,
Hag Tl = 2Hl(g).
A [ SiwLiys / Turn over
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38.

)

)
(i)
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gafl Geudlellenansar Lmuw aflenar cuamsem§ STTHSE. ereueumm ?
elenaneuens LHMD Epessam o < HweandpHdleLCuwmer
Caugiur@ser gGaanbd ppaleanas s(ms.

| {60605
Ligeuflens Germiseflan Apliweser wrene ?
Cp Hyp wmid C Hy, _, Qurg eumiiiurligeeryenlw Uigeiflas
Gemomisetlen CuUwTsemer GOHLIAGHS.
Generally photochemical reactions follows zero order Kinetics. How ?
Write any three differences between order and molecularity of the reaction.

OR

Write the characteristics of homologous series.

Identify the following homologous series having the general formula C H, and

SpGailgen ereueurn AeThsOluLLGSDE ?
srflwev penuier epab GhssD ereseumm SeTbsHluLLGSDSg ?
S0V

welmaru HuloLd LGrreaw® brrougsde vuwldampdrer oflaar
auflpenilemar efflours alaré@s.

@
(i)

How will you estimate oxygen ?
Explain about Carius method of estimation of sulphur. -
OR

Explain the mechanism involved in hydrolysis of tert. butyl bromide.

-000-



